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(1) System.out.println("2" - "1");

(2) System.out.println("2" + 1);

(3) System.out.println("2 - 1 ="+ 2 - 1);

(4) System.out.println(l + 2 + "

(5) System.out.println((1 + 2) + "

(6) System.out.println("1 + 2 =" +1 + 2);

(7) System.out.println("1 + 2 ="+ (1 + 2));
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(1) System.out.print(e.5 + 1.5);

(2) System.out.print(l.0 * 2);

(3) System.out.print(3 / 2);

(4) System.out.print(12);

(5) System.out.print(012);

(6) System.out.print(ex12);

(7) System.out.print(e.le+2);

(8) System.out.print(true);

(9) System.out.print("int");

(10) System.out.print('¥¥'); XCC TS Y] FIFRSvYa1E@FTT.
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int ans, a=4, b=3;
RDBFNZRTUILEDZEE ans DBZS AR ).
(1) ans = a + a;
(2) ans = a - b;
(3) ans = b * b;
(4) ans = a / b;
(5) ans = a % b;
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1nt a;
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(6) a=(1-3);
(7) a = (int)4.0;
(8) a = (int)2.5;
(9) a = ((int)(2.8 * 2));
(10) a = (int)(((double)2) + ((int)2.5));
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int ans=1, a=1, b=1;
RDBNZRTUILEDZEE ans DIBZS AR ).
(11) ans += (a = (b = 2));
(12) a = ans + 1;
(13) ans += ©;
(14) --ans;
(15) ans = ans++;
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int a=2, b=3;
ROBNX =2 LZBEEEAN (true T2 false) ZBZR ),
(16) System.out.println(a != a);
(17) System.out.println((a + b) == 5);
(18) System.out.println(a < b);
(19) System.out.println((b % 2) != 0);
(20) System.out.println((a += b) == 2);
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[] double b=(double)4;
EFTDE BHDLICIE( 8 )DPNASNTET,

BEERIFID int B0)(
2 )TI,EDNEZZE#RT DY
YDENEHT D (
5 VEEFICKDBERYICHTOICENTEE

1

YRICEBSN., 8 a ITI3(

)(J%éﬂ’é?@ﬁ@“%

import java.io.*;
class Intermediate6{
public static void main(String[] args) throws IOException{

BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in,"Shift-JIS"));
int a, b, ans;
System.out.println("2 DDEH a, b ZAVNTEHBEZFDFEI");
System.out.println("EB#a ZANLTIZSL\");
a = Integer.parselnt(br.readLine());
System.out.println("EB#H b ZANLTIESL\");
b = Integer.parselnt(br.readLine());
System.out.println("&@& "+a+"+"+b+"=2");
ans = Integer.parseIlnt(br.readlLine());
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if(ans==(a+b))
System.out.println("IEE D");
else
System.out.println("&Z I3 "+(a+b)+"TULIIZ");
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